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[6] 2. Find the value(s) of k so that ‘the function
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is continuous at x = —1. Use limits to justify your answers
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15 3.Find /(). DO NOT SIMPLIFY YOUR ANSWERS,
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[6] 4. Using the definition of the derivative find f' (x) if f (x) =+x-3,

No marks will be given if other methods are used.
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[7] 5. Find an equation of the tangent line to the curve described by
x* +xy+ )’ = x—6 at the point with coordinates (2, -2).
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[4] 6. Prove the following theorem:
If fand g are differentiable functions then

(f+g) (x)= f’(x)‘+ g'(x)
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[3] 7. The position of a partlcle movmg along the x-axis is given by
x(t) -3 -8 +7 m. Iftisin seconds, find the acceleratlon whent=2s.
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[7] 8. A rectangular solid (a box) has a length of x metres, a width of (x+ 1) metres, and
a height of (x+2) metres. Therefore, its volume is given by ¥ =x* +3x% +2x and

its surface area is given by 4 = 6x® +12x+4. When x = 2 metres the volume i is

increasing at 78 m’ /s . At what rate is the surface area changlng at this instant?
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